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DOW30 19152.14 (+0.36%)
NASDAQ 5398.92 (+0.34%)
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DAX30 10699.27 (+0.09%)
CAC40 4550.27 (+0.17%)
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3y 1.8230% (-0.70bp)

Sy 1.9670% (+0.20bp)

10y 2.1850% (-1.00bp)

20y 2.2500% (-2.00bp)

30y 2.2650%  (-2.00bp)
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1Y -16.15bp (-0.35bp)
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3y -17.55bp  (+0.95bp)
5Y -2670bp  (-1.20bp)
10Y -35.00bp  (-1.25bp)
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1Y 1.5625% (+0.75bp)
2y 1.6025% (+0.50bp)
3Y 1.6475% (+0.25bp)
5Y 1.7000% (-1.00bp)
7Y 1.7600% (-1.75bp)

10v 1.8350% (-2.25bp)

12Y 400 (-0.25bp)
2*3Y 450 (-0.25bp)
2*5Y 975 (-1.50bp)
3*5Y 525  (-1.25bp)
5*7Y 600 (-0.75bp)
5*10Y 1350 (-1.25bp)
*CRS 22|

1Y 1.0450% ( 0.00bp)
2y 1.0900% (+3.50bp)
3y 1.1200% (+4.00bp)
5Y 1.1500% (+4.50bp)
7Y 1.1650% (+3.50bp)
10Y  1.1750% (+3.00bp)
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